H Y

= N B 0001
AR Lent)
T H 1 X - - ER)A & %A AMoB N3

= U #1553

T ks st 7,314, 000

I

T Sk Et 1, 465, 000
i

i 8, 779, 000




H0-0001/0003
THEX4y - L - fliil m | B 7 & % A a1l N 3
K T2
A O B = 1, 160, 055
BT Y 761, 040
PEH T = 143, 500
E/HEll 1 iy
P 140 m3
+#y BRI OB
¥R+ T = 617, 540
D 1 A
e U 1 =
M EwE T = 399, 015
FEEY BE LT = 119, 645
S AERR B KT 1 A
SRR (727 7 M R 23 m
AsEIERRIE-—>15emPl T
B A R A 1 =
SRR (727 7 M ) 700 m2
TEFRALEE T = 279, 370
eI 1 X
eI 35 m3
BT PR A




£/ g 2 =R E0-0002/0003
*E\E‘ W IIR =
THEXSy - L - fER i A & %A A B
RISy 1 =
Loy Ee 1 Y
TAT 7 Mk
R Y 2,281, 680
HTET =y 1,971, 180
B G T = 71,205
N 1 =
NN 705 m2
fHE A > L
TA7 7V MaAE T = 1,899, 975
T8 B (BE - B E D) 1 =
T s (BE - BE D) 705 m2
2 EVE->100mm 1EkT
| JE g (HEE - B R ) 1 Y
R (BE - D) 705 m2
BiFREA M-25, M=30, M—40
FoJE (HE - BKIF D) 1 =
) (HE - BIFHD) 705 m2
_ t =5 0mm
rGan = 310, 500
AREEET = 310, 500
AR E g B Y
ERZERE % & 3, 441, 000




H5 Y

AR

H0-0003/0003

THEXSy - T - Rl & | H 7 & {5 L 1|
ESHIGE 744, 000
ESillGiE & 744, 000
ol T3 Gt 4, 185, 000
ER NS ¢ 1, 868, 000
BN iy 6, 053, 000
— i B 1, 261, 000
NBE iy 7,314, 000
BEIE R BB 288,000 | MEUERE K O —REHEICE ENDIEEEAE LS EITRL TN D,




TH[X Sy - TR - fER
AR T2
B

iz

HHLET

THLEFTHR X T

il

A

676, 608

H0-0001/0002

653, 608

166, 408

i G

SHEE RO (727 7 M HERRD)

g%
AsEiSEAUE—>15emPd T
A A

L RRURBE: (727 70 MR RRD)

JEH

2

=

280

R

m2

TAT 7 M3 T

SR AT

ATy

syt

14 m3

TAT 7V ik
487, 200

E% T

280 m2

280

m2




*45/“’“ Wnﬂi E0-0002/0002
THEXS - T - iRl & | H7 & {5 Mo A N3
A EL T 1 2y 23, 000
AR A i B 1 =X
RN X 676, 000
ESEIE S 6 152, 000
ESHIIGE- &) 152, 000
fofl T g2 Gt 828, 000
15 PR 382, 000
A 1,210, 000
— ke B 255, 000
T A R 1, 465, 000
BB WETERF H A A 57,000 | XHIGEHE L O —REHAEICE ENDEERFBELZZEITRL TN D,




